Assembly Instruction

Liberty Furniture
Industries,Inc

ITEM: 176-BR30 Drawer dresser

176-BR50 Landscape mirror

Thank you for purchasing this quality product. Be sure to check all packing material

carefully for small parts which may come loose inside the carton during shipment.

Count all parts and compare with the parts list below:

V2

V2

= /
7
o o
(o) o
[o] [o]
o o
. A
L/ \|

Caution: Do not over tighten bolts.

|

metal plate

‘Y
"\\:: /'.'. ﬁ
T=== 3 ‘\/ &@»W—%

I
“m@;m@Q o ' 00

A BC D
é /@

Parts List
A | 05 [ Bolt @5/16"*1-1/4"L| 8 pcs
B D Lock washer | @ 5/16"*14MM| 8 pcs
C @ Flat washer @ 5/16"16MM 8 pcs
D | b | Screws #8*3/4"L 8 pcs

* * Cleaning instructions :clean the surface with furniture polish and a soft cloth.

Made in China




